Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR 951 - 6'8 & 8'0 Opaque Comp Edge Impact (TX 4705 - 4710\C - Drawings\TX-4705-7.dwg

THERMARTRU

DOORS
Fiber-Classic. & Smooth-Star.

COMPOSITE EDGE
OPAQUE FIBERGLASS SINGLE DOOR
w/ SIDELITE(S)

INSWING /OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS TDI DR-951
The Fiberglass Door system described herein complies with the 2018 Intemational

Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal o or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

Fiber-Classic and Smooth-Star Door & Sidelite panels require the use of "J" part

numbers. These door panels must be stained or painted within six months of

installation.

Sy

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Sidelite Panel Details

Elevations

Horizontal & Vertical Cross Sections
Vertical Cross Sections (Thresholds)
Frame Anchoring

Hardware Details

Glozing Details

Componenis

Bill of Materials

=S olo~]os o] —

See Sheet 4 for Hardware Specifications

76.75" MAX O.A. FRAME ,
WIDTH W
15" & o3
37.75' MAX _ 37.5'MAX. Fems ¢ o 8
FRAME WIDTH FRAME WIDTH EAY s* o v
gz’z}‘:’ 0 bl % 15 T
=i : we o Cdb b
A i 53 £ea
/ \" k3 i. Iy E = < -g % 9
K 4’ .&)‘; s s > L ©
Er : - a3 4359
6 /// ??z *» .: oo 8 > "2 é
T Z / RSNy Zgo b
Z <3 Tt & oNu @
3 x
< ; °3 B £87
§ == h o . &
0% % & 502
x T =1L e & oo s
<0 19 O E
=m Q ® 2 &
Ne B X 5 ?
®g ®3 E K8
< < 8
®  E / 8
VA
/ - ]
w
o &
S =
ES Zh
115.75" MAX O.A. FRAME Ty | PG
WIDTH £ |5 £°©
15" — =< 13 o
B2 |3 a2
37.5'MAX. __||_ 37.75'MAX S
FRAME WIDTH FRAME WIDTH T S5
O x A
a | L
e S
& P
/ /
/ ' 1]
G Z / /
Z <3 a8
(7]

.5 05 3
<2 ©
cE §<< o 3
%5 26 @) e S o
o QW o) @ IZ
NI =% X 2
oW ool ol |5

s = o £
<C < ~N El
o oz h'd
S / . =
/ / S
o
2D
| W—————\ ~
NE=
N
}O
~lo
=
DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) OATE: 10,/24,/17
CONFIGURATION INSWING OUTSWING SAE N.T.S.
POSITIVE NEGATIVE POSITIVE NEGATIVE DWG. BY: JK
XO, OX, OX + ] _ CHK. BY: LFS
o 50.0 50.0 +50.0 50.0 BT
TX—4706

sHeer _ 1 oF 11

© 2017 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR 951 - 6'8 & 8'0 Opaque Comp Edge Impact (TX 4705 - 47100\C - Drawings\TX-4705-7.dwg

EXTERIOR

- 171" —]

/
COMPOSITE \
CAP

HINGE STILE

{ENGINEERED WOOD)

SOOI

INTERIOR

m HORIZONTAL CROSS SECTION

2/

35.813" MAX.
DOOR
PANEL WIDTH

(4
\2/

e

EXTERIOR o
05 —=—| |j=— E—
[* 1.2" t<~ 1.875" __..l l-" 0.5
f R COMPOSITE
= CAP
COMPOSITE INTERIOR LOCK BLOCK STILE
CAP  HINGESIILE - (125"LONG L)  (ENGINEERED WOOD)
(ENGINEERED WOOD)
/"1 "\ HORIZONTAL CROSS SECTION
\2/
36.0" MAX. 35.813" MAX.
(~——  DOOR — ~——  DOOR
PANEL WIDTH PANEL WIDTH
m l | B l
&, © <
:
= <
o) © o) ©
o o)
a | a ®|—
> X } > X }
2 =
s s
N By

. DOOR PANEL
BOOK

‘ DOOR PANEL
Hybrid Door

79.06" MAX. DOOR PANEL HEIGHT

&P

d

55"

!

>

DOOR PANEL
U1 Door

ui
i 0: 3
12 S
r‘-l.875" ——-; ——0.41" e Ex e ©
< [fu gB 7
] ) 6’ W o -: u": g :;
gk £s2 o
T 55 Eid £
| COMPOSITE g>o
CAP g 888 :
O Xz
LOCK BLOCK STILE T 282 .
(12.5"LONG WOOD)  (ENGINEERED WOOD) s 3.8 O
> mon K
e )
: D £
)
E Y]
3 @3) ©
a
9
oz =C
TOP RAIL 28 | &
(COMPOSITE/ENGINEERED To s o
WOOD) %‘g 5 %
B3 |/
"5 19 8
el 0
1 1 : z 8
E . ] v
2 , 58 |F
- roamcore — |- £l
L (POLYURETHANE - :
v 1.9 PCF MIN.) b
/4 3
QO
INTERIOR EXTERIOR INTERIOR EXTERIOR £|
./ /. I
R ey 7 sl B
g ' . & (o)
2 T FIBERGLASS SKIN — X O o I*
o (0.073" THK.) : A3 "
L S
o,
D
L l z;l
E— BOTTOM RAIL SE
oot ].7]" . (COMP.) l—.‘~ ].7]" ._..’ }D
=
/3 "\ VERTICAL CROSS SECTION  /~ 4\ VERTICAL CROSS SECTION =
2/ 2 oATE: 10,/24,/17
SCAE N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4706

SHEET _2 oF 11

© zo17 R.W. BuiLDING CONSULTANTS INC.



"TON) SANVATINENGOD .UZ_QJ_Dm "

M'H 4102 O

ZGLL—4 # NOLVAHLISIOIN 40 ILvOldILN30 | SNOISIATY TIva ToN] ~
L616°699°CL8 “ON auold SWVL3A TINvd 3L130IS S41| 3000 J¥i/061 810z 0L 31vadn|iz/zz/6 | L |~|vi|X e 8 1_
o : b Lt B el N B
SEGET 14 OOMIDA 0£Z xog ‘O'd \N\h@o ATBINISSY ¥0 Livd NI Z o
ONI ‘SINVIINSNOD ONIdTINg ™~ g | 3_
¥00a SSY19434l4 2l |&lgle X
SZLHOL# “3'd SvXaL NYL—VAY3HL o ¢ lx|2 &
Ad IPIUIYDS d UopuAy :Ag peiodeiq sjpuswinosog 10NAa0Hd S 13 m %
274
o
]
-] [ ..&mﬁo Tml~

1.7 —]

(WOOD)

FOAM CORE — ||

(POLYURETHANE -
1.9 PCF MIN.)

INTERIOR

EXTERIOR

m HORIZONTAL CROSS SECTION

(WOOD)

‘ll.:N._..lt’I'

/
/7

EXTERIOR

(0.070" THK.)

FIBERGLASS SKIN / ‘  |

R ——

3600 MAX
PANEL WIDTH

O

-

D

IHOEH 1AINVd XYW .ST6L

@ SIDELITE PANEL

2"\ VERTICAL CROSS SECTION

Bmp'2-502p-XL\sBumeld - J\OL 2y - S04 X1) 1edwy 96p3 dwod anbed0 0,878 8.9 - 156 ¥A - IAL\su J0 1da( sexal - S\LNINVINYId ML BWIBY\SIURID\Z




Ll
oy
£
5
X g B
G . s 0 -
5 5 5 5 cb 20
1 1 ] 1 i i c L o .
‘ 1 ¢ g i g
2 dge &
5 / i / 5o
// // // 5 885 8
/ / / L
% 5g 8 ,m_
m o maon é
/\ < 2 fs\ 4 w 2 L§ E‘
: : s R @
w - m 5
a olrsy O O | 8llrsy O ;
B & N %
X | X
/ S
A / / 28| ¢
/ /// /// b | S
/ f 52 14 =
E / Bl / e |2 E
ic <€
p__J p__4 B N || S EE |
pro——— _——— =2
=~ =
(@] v
VD (DD Y m@ NN Y -
NI AN A, N A DAY, e
im
SEE HARDWARE CHART SEE HARDWARE CHART
ELEVATION 8
ELEVATION ~ox0 §
X0 Q
S o
al |z
(@]
2 @
& @'
e
B
3
o
T D
'q > wile //\ Y 1 — S
=TT . NE
] [ L KNOB: F51 ,
— N NA SCHIAGE | beapsotr:  Beo -2
[ cwikser | KNOE: SIGNATURE SERIES oarE: 10/24/17
— —= = - DEADBOLT: SIGNATURE SERIES (980) scale: N.T.S.
HOPPE | MULTIPOINT : MPDGART ows. BY:  JK
Fiber-Classic/Smooth-Star Door Panel Options (THERMA-TRU) (3 pt. Manual Tongue) cik. B LFS
Panel options shown are for illustration and are representative only DRAWING NO.:
{similar opaque panel configurations are allowed) TX—4706
SHEET _4 oF 11

ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR 951 - 6'8 & 8'0 Opaque Comp Edge Impact (TX 4705 - 4710\C - Drawings\TX-4705-7.dwg

© 2017 R.W. BUILDING CONSULTANTS {NGC.



Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR 951 - 6'8 & 8'0 Opaque Comp Edge Impact (TX 4705 - 4710\C - Drawings\TX-4705-7.dwg

DRYWALL i OI5"CSINK

\ ‘ (TYP) 0.15"CSINK __ DRYWALL

,,,,, (rvP) I~ /
,/® SEE NOTE 1 B IR

INTERIOR

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

EXT. SHEATHING \
£l
(® |

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

1/
7

CERTIFICATE OF REGISTRATION # F—11852

e ‘ < | =
EXTERIOR ===
| é@ ® | == COC
EXT. SHEATHING =
29 o =W
@@@ EXT. SHEATHING §§ §§
6]
/1" HORIZONTAL CROSS SECTION ("2 HORIZONTAL CROSS SECTION & é‘§ 5 53
Sh 2X Buck g = = -
J %&m%/s%xo&/%cﬁnming similar) J Oﬁwrg/show%c(lnswing similar) EXTERIOR X INTERIOR 2 LEE% g %g
o < NG
Noftes: 5l = = S
1. Sidelite assembly screws located 6" from each end and 5§ more screws /2\ g\i’glsvﬁlz'xgﬁgss SECTION § ; *
equally spaced between {7 screws tofal per side jomb). U Outswing shown (Inswing similar) 2 S
2. Sidefite assembly screws located 3" from each end & at centerline
(3 screws along head jamb). g >
— - g
vl 8
¢ e 8
Ay N
EXT. SHEATHING Nl 9 %
‘ \ AL - o %
SEE NOTE ‘ W \'4\\\\\%‘\/\/\/\/‘,'”/,/” SEE NOTE ] M X : /DRYWALL g él
1 ‘R y
DD ; -
\ :: § AT IELIL LIS, 'g / @@/r\ 4, { g c<'_~,
q /)¢ p SEE NOTE 2 (7 f ~
oMl : 77
g DATE: 10,/24,/17
@ L @ & @ .\ 6 E o TS
\. @Q@ EXTERIOR INTERIOR = WG, BY:  JK
A\ CHK. BY: LFS
/5 "\ HORIZONTAL CROSS SECTION EXTERIOR /\ HORIZONTAL CROSS SECTION /"8 \ VERTICAL CROSS SECTION SRAVING NG
\_5_/ Outswing shown (inswing similar) \5_/ Outswing shown {inswing similar) 5/ Shown w/ 2X Buck TX—4706

Outswing shown (Inswing similar)

sHeer 5 oF 11

© 2017 R.W., BUILDING CONSULTANTS IND.




Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR 951 - 6'8 & 8'0 Opaque Comp Edge Impact (TX 4705 - 4710\\C - Drawings\TX-4705-7.dwg

Notes:

1. Sill tem #'s 16, 32, 33, 34, 35, 36, 37, 38 & 39 are attached to jambs w/ (3} #8 X 2-1/2" pfh screws at each end.
Sill ttem #'s 17 & 18 are aftached to jambs w/ (2} #8 X 2-1/2" pfh screws at each end.
Sill item #15 is attached to jambs utilizing (2] #10 X 1-1/2" pph screws at each end.

2. Sidelite assembly screws located 3" from each end & at centeriine {3 screws along sill).

\\

.

INTERIOR

(10)a(a2)

EXTERIOR INTERIOR

(@)

EXTERIOR

(®)

7

¢ 38 )39 132 n 33)(34)35)36)37
, . SEENOTE |
SEENOTEl\ \

K ) woop K ) woob

D ) CONCRETE D ) CONCRETE

/"2 VERTICAL CROSS SECTION

\6/ Inswing Sill

m VERTICAL CROSS SECTION

\U Inswing Sill

\\

EXTERIOR

(0)a(a2)

SEENOTE 1

\\

INTERIOR

(16718)

INTERIOR /’( EXTERIOR
EXTERIOR b\ INTERIOR SEE NOTE?@\
/ (77)75) 32)(33)(34)(35)(36)(37)(38)(39
10 0
15 \
SEENOTE 1
K ) wooD k) woon
D ) CONCRETE 5) CONCRETE

7“4\ VERTICAL CROSS SECTION

W Public Access Sill

/"5 "\ VERTICAL CROSS SECTION

w Inswing Sill

ST

]

m VERTICAL CROSS SECTION

W Outswing Sill

~

EXTERIOR

SEENOTE 2(25) __
' ’

\

AL RS RNV

§ B B

INTERIOR

(1607)38)

o 220N I\§\§\\;

ENIN

!

S,

/"6 "\ VERTICAL CROSS SECTION

\é/ Outswing Sill

W,
LAY
$e
20
Ex 2
£ b
0 )
0w 9
w & 55
c A 2ad
5] o
] oo
%+
2 o ©
>m
owm
=)
o~
X
o
o
o]
o

BUILDING CONSULTANTS, INC.

Phone No.:

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL CROSS
SECTIONS (THRESHOLDS)

THERMA-TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

LFS

REVISIONS

9/27/21 [UPDATE TO 2018 IBC/IRC CODE

1

L
<
0
3
=z
7

DATE: 10,/24 /1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4706

SHEET _6 oF 11

© 2017 R.W. BUILDING CONSULTANTS INC.



TON] SLNVIINSNOD aNIgIng "'M'd 4102 §

ZS8LL—d4 # NOLVHISIOAY 40 ALVOI41LM3D @ SNOISIAZY TIva TON1~
L6L6659°CLa FON oUOUd ONIMOHONY INveld S47| 3000 0dI/o8l 8102 0l J1vadn| iz/zz/6 | L ||| ﬁ 3 M~
GBSEE 14 OOUIDA 0CZ X08 ‘O'd \Su@u *A1GNISSY W0 Lavd S M .1 °
"ONI *SINVLINSNOD aNIailing W . g | 7_
¥00a SSy1943814 = |1E|Elg X
SZLYOL# “T'd SvxIL NYL—YNHIHL i m 6| vlE &
‘3'd PIIYOS 4 uopuky :Ag pespdedd sjuewnoog -LoNA0yUd HEAEE m o
o
= . _ [dal o0
qﬁ — _Al ('dAL).9 _ _ XYW .71
¥|l — | | | | | | -
z
S - —_
2 * — I J |
(€S ¥
] | -
— o
T+ e A
p— P hame
£ E @9 ! @
i * -
£ : s |E S
%o < € O =
- Q = Iy
s & b4 ]
nE Q
< O ~
Ll
— | ‘ T | I -
/
e | | I -
O
<
N
oz
o
o
— ~ “ _ I |- g
f <
Y- =
oo
<
2E <
oz
Tm
z
o | _[dAl) " D'0
k . —ll!\r ﬁ.mtv ..O _ H X(E __.V—
1»111 — | | | | | |-
S - - >
2 | — , I - @)
@)
L e _ = >
IS 3 2 A
Dl. —_ — [
=g g = ()
& =z oy E H
MS = %o [ m w Q0 o
- 5 o 9 S
== =
RE _ N 9 = N
7° & 8
la) - —
al__ I ] I | I
Dl
SI=
—
o
=
<

BMpP L-S0L-X1\sBumeld - \(0L 2t - S0 X1) Pedwy abp3 dwo) anbedo 0,8 78 8.9 - 156 ¥Q - 1AL\sul 0 1daq sexa - S\LNINVINYIJ NiL BULBYINSIUSIDNZ



"ON| SINVLIINSNG] aNIgTng 'M'd L4102 O

268LL~d # NOLLVAULISIORYM 40 ILVOIJLNID . 15 SNOISIAZY
41vad [ON|™~ -~
L6L6659°CL8 FON SUOY STivi3a vMavH S41|_3d00_owi/oal 810z ol 3wvaan| iz/zz/6] 1 || v|X|L] 8 1_
by -l [T
SBGEE "Id OSHIPA OFZ Xo08 °O'd \w\ﬁ@. ‘ATENISSY HO Ldvd % = 3 W ©
*ONI ‘SINVLIINSNOD ONIgQTing ™~ < m | 8_
3000 SSv19¥3gld Sl 1Eigle X
£ZTLYOL# "3'd SvX3al NYL-YWHIHL g m 6l lE '
‘F'd WPHUYSS 4 uopuky :Ag peJpdedy sjuewnoog 110NA0Nd SB35 m M
:nmmmv @ =
»..o#av\ AMM M m w
::m& D
. oaNALE a1 S8 =
..... I Wl Hm C— s ‘_ =
) =P £t - = 2% &
i TN/ 7 28 Al s
o nUu S o2 v’n.
Q= mM =
S - & &
N
QO
o]
e
P
<
o
—— (&1 7) .STSy ———] a
. . b
w «E0E ! WANA | @l m
p gle 2
o P
[ (=D (b= = [ =
=" — ] M8
\ \
=
W o= =
Ok = 08
Swe Q5
i Hao
AWVT 40 YOO ARGAH/ LN
dOL WO¥d .Szl L1 (dAL) SL°6Z
AWVT 40 J00Q0 F00E
dOL WO¥H .52 L L ('dAl).ST'6T @ =
— 3 B :
— : : ] o = zF W
a. : . . O
h_._..w m i d | ﬁmu o W
W = = I 1
<
[1]
i

-

(' 7} 88y —
:m.m -—
=)
. . — 3

STRIKE JAMB
Latch and Deadbolt

DETAIL

SEE LATCH /

& DEADBOLT

Security Sub
Strike Plate

Schiage

LATCH & DEADBOLT DETAIL

/—
\-
W
L —T1" D
\
LATCH & DEADBOLT DETAIL
Kwikset

LATCH & DEADBOLT STRIKE DETAILS

Bmp’£-S0.2p-X\sBuImMelq - S\0LLy - S0y X1) 1Pedw) a6p3 dwoD enbedO 0,8 7 8.9 - 1S6 ¥A - 1GL\su] J0 3daq sexa] - S\LNINVINYId NJL BULBYLNSIUSIDNZ



N J‘k, Y . i
ST iy, e
oty =3
Fop Y 29 8
EXTERIOR S 12 Ex. & B8
E:fkq;- I AR ?;9 ] . s
bul i e ndogR
CELLULAR e AP SN wd T Ak L
; GLAIZING TAPE 172" GLASS BITE o v 12 S g§ gha =
t— 1,53" ] n 2, v [ . k3] oo z
—— 1" THK. GLASS LN S e f£tfo 2
(AT R I 388 B
1/8" TEMPERED GLASS QS yint 3 £2oa b
T | . Mneand™ & o8z B
? — / 1/2" AR SPACE . g2 &
R : S Z 5/32" ANNEALED GLASS § §.¢ ©
M s — £ 2ok g
L DOX)VRWS — N 0.090" PVB INTERLAYER g L§ £
‘* (SAFLEX OR KURARAY BUTACITE o
S SIKA 552 : ) E K8
1/8" ANNEALED GLASS 8
@ ﬁ UM’NUT FRA% . #10 X 1-1/2" PPH SMS @
Uminum impdact e rrame
Door Panels & Sidelites INTERIOR SWIGGLE GLAZING SPACER
& [9)
2R | E
C) GLAZING DETAIL To |y &
Aluminum impact Lite frame §(§ B ©
Door Panels & Sidelites Eo = %
S L R
o < o
= I I
., 2088'DLO. __ 2 >
WIDTH S &
n. 0.
L%
8 8
Ay (o]
> Q-
e *x o
= & <
Q — (&) (2]
T 1 [y 8l 2
S 5 2
- N i
[ Indd
R | INTERNAL GRID (GBG) WROUGHT IRON INSERT S
: 2
g
#10 X 1-1/2" PPH SMS =]
(TYP.) N
Nl=
Rl SE
o [+))
4.25"1 L' r T -2
(TYP.) . - DATE: 10,/24/17
JE DECORATIVE INSERT Souf:  N.T.S.
ALUMINUM LITE FRAME PRIVACY INSERT DWG. B:  JK
CHK. BY: LFS
1" LAMINATED INSULATED IMPACT GLASS INSERT OPTIONS DW";‘;T’;?OS
SHEET _9 oF 11

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR 951 - 6'8 & 8'0 Opaque Comp Edge Impact (TX 4705 - 4710N\C - Drawings\TX-4705-7.dwg

© 2017 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR 951 - 6'8 & 8'0 Opaque Comp Edge Impact (TX 4705 - 47100\C - Drawings\TX-4705-7.dwg

[~ 1.29" =]

32 INSWING THRESHOLD

Inswing Basic Composite Adjustabie Sill 7-1/2"

4.56" ‘

33 INSWING THRESHOLD

Inswing Basic Fixed Sil

5.75"

34

INSWING THRESHOLD

Inswing Moderate Climate Sill 1-3/8"

5.75"

35

INSWING THRESHOLD

Inswing Moderate Climate Sill

575"

36

INSWING THRESHOLD

Inswing Basic Fixed 5-3/4" Sill

pal

7.5"

37 INSWING THRESHOLD

Inswing Basic Fixed 7-1/2" Sill

4.56" ‘

38

1.3

INSWING THRESHOLD

Inswing Composite Adjustable Sill

5.77"

39

INSWING THRESHOLD

Inswing Basic Composite Adjustable Sill

6.0"

L 0.5"

A
~ 1 5

0.082"

o)

0.45" —=

‘ SWEEP

2.18" i

<::> SIDELITE SPACER
Inswing

TS

79—

0.68" —=

@ PUBLIC ACCESS THRESHOLD

— 1.92" @ L_ 2.06" —

SWEEP

0.68" *1 -

|

o
. SWEEP
214 |
213" ’
) e
s | T
@
1 S 1B éoo
o

‘ SIDELITE SPACER <::> SIDELITE SPACER
Outswing Inswing

Moderate Climate Threshold

—'—; 0.99" L‘-

1.25"

1.01"

4.56" i

o
M ) B 4
S N 3
] 7
g
4]

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

16 OUTSWING THRESHOLD

Composite Sill

4.56"

17 OUTSWING THRESHOLD
Composite / Aluminum Sil

_—_—

BUILDING CONSULTANTS, INC.
P.O. Box 230 Vairico FL. 33595

Documents Prepared By:

Phone No.:

CERTIFICATE OF REGISTRATION # F--11852

575"

-

18 OQUTSWING THRESHOLD

Composite / Aluminum Sill
{Thermal Break)

TX—-4706

S
22| &
Yo |y
(%) ..
0 |5 %
=3 |2 &
o & =
] o S
S |9 o
= )]
% <
= o
§ (o)
S b
o o.
@i
Lim
")
Q
o]
O
O
X
S o
o =z
ol 1
S %]
S
o
e
I
O
0o
S
~
Y [a]
[+))
~lo
Z
DATE: 10/24/17
scaE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:

sHeer 10 oF 11

© 2017 R.W. BUILDING DCONSULTANTS INC.



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR 951 - 6'8 & 8'0 Opaque Comp Edge Impact (TX 4705 - 4710\C - Drawings\TX-4705-7.dwg

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A 2X FRAMING (SG >= 0.42) WOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" PFH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
K #12 PFH WOOD SCREW (1-1/2" MIN. EMBEDMENT) STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
] JAMB (FINGER JOINT PINE ) WOOD
6 WEATHERSTRIP (MEDIUM REACH]) FOAM
7 WEATHERSTRIP {LONG REACH]) FOAM
8 SWEEP VINYL
9 SWEEP (USE w/ MODERATE CLIMATE THRESHOLD) VINYL
10 SWEEP (USE w/ PUBLIC ACCESS THRESHOLD) VINYL
15 PUBLIC ACCESS THRESHOLD ALUM
16 OUTSWING THRESHOLD ALUM/COMP
17 OUTSWING THRESHOLD ALUM/COMP
18 OUTSWING THRESHOLD ALUM/COMP
22 | #8x3/4"PFH WOOD SCREW STEEL
23 #10 x 3/4" PFH WOOD SCREW STEEL
24 #10 x 1" PFH WOOD SCREW STEEL
25 #8 x 2-1/2" PFH WOOD SCREW STEEL
26 #8 x 5/8" PFH WOOD SCREW STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT SUB STRIKE PLATE STEEL
28A | DEADBOLT SUB STRIKE PLATE STEEL
29 4" X 4" HINGE STEEL
30 LATCH & DEADBOLT STRIKE PLATE (TONGUE SYSTEM) ALUM/COMP
31 MULTIPOINT STRIKE PLATE (TONGUE SYSTEM) ALUM/COMP
32 INSWING THRESHOLD ALUM/COMP
33 INSWING THRESHOLD ALUM/COMP
34 INSWING THRESHOLD ALUM/COMP
35 INSWING THRESHOLD ALUM/COMP
36 INSWING THRESHOLD ALUM/COMP
37 INSWING THRESHOLD ALUM/COMP
38 INSWING THRESHOLD ALUM/COMP
39 INSWING THRESHOLD ALUM/COMP
40 DOOR PANEL (BOOK) -
41 DOOR PANEL (HYBRID) -
42 DOOR PANEL (UT) -
50 SIDELITE -
75 SIDELITE SPACER {INSWING) PVC
76 SIDELITE SPACER (OUTSWING) PVC
77 SIDELITE SPACER (INSWING) - MODERATE CLIMATE SILL PVC
88 2X MULLION (SG >=0.55) WOOD

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are nof exceeded.

3. Concrete anchor table:

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

_TYPE | SIZE | EMBEDMENT| =" 0
lTW " " 1y i
1apcoN®| V 1-3/ 2 4
DQWALT " 1] n "
utRAcons| 174 1-3/4 ! 4

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

[l %]
S oo |
8 | E
= L3
| sy T
2 |5 =
Ea |
IS =1
Ye [B S
=i 1
o |9 3
5 |5 ®
8 (o]
S b
o 0.
>
Ll
g
(=]
o
[&]
(&)
X
S |0
o (2
O
s I 7))
N
] =
4
e
iz
O
Q.
2
~
N
NES
)}
_lo
z
oate: 10/24/17
scAlE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4706

sHeer 11 oF 11

@ 2017 R.W. BUILDING CONSULTANTS INC.



